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Instructions
«  All Questions are compulsory
e The Question paper consists of 2 sections - Part A contains 10
questions of 2 marks each. Part B consists of S questions of 16
marks each.
e There is no overall ¢

internal cholee.
PART - A
c* 10 = 20 Marks)

hoice. Only Part B question include

|. What is meant by language? Give some example.

Define concatenation with example.

Differentiate between Deterministic and Non-deterministic finite

.
automata

4 What is meant by transition graph?

5 Write the relationship between regular |
automata.

6. Write closure properties of regular Jan
7. Define Context frec grammar with example.
8. What is meant by Pumping lemma?

9. Define halting problem.

10. Write the difference between
recursive languages.

anguages and finite

guUAges.

recursively enumerable and

PART - B
(16 *5 = 80 Marks)

11. a)) Explain in detail about Basic operations on language with
example, (10)

i) Write the reg
combinations of a's, Over the set Y = (@)

iiiy Write the regular expression for the lan
of a's except the null string, over the

ge accepling all
(2)
guage accepting all
set Y < {a)
(2)
guage accepting all the
(2)

ular expression for the langua

combinations

iv) Write the regular expression for the lan

string containing any number of a's and b's.
OR

ic and non-deterministic finite automate which

b) Draw a determinist
1 aubccndofastringcomainingo. linit, eg.
(16)

accept 00 and 1
01010100 but not 000111010,

12.a) Convert the given NFA to DFA.




difference  between Deterministic and Non-
(6)

(10)

by i) Write the
deterministic pushdown automata.
efly describe properties of context frec languages.

OR

B)WMM&WS}E;NBAmDM with example. i) Bri
(16)

@

ursively enumerable and recursive

15.a) Explain in detail about Rec
(16)

languages.

OR

b)) Define Universal Turing machine. (3)

{if) How can you say that Turing machine as a model of
st - ‘ 3)

(‘ﬂ)m describe language acceptability and decidability. (10)




